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Predict the major organic product of the following reaction.
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-4 What is the maj niaty
¢ major organic product of the following reaction?
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‘/. Whlch of the following undergo decarboxylation upon heating?
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A, Reaction of acetic acid, CH;Co,
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‘{). Which of the following reagents would you use to accomplish this transformation?
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\2. Place the following compounds in order of increasing resonance stabilization.
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b( hich of the following reagents would you use to accomplish this transformation?
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28. Indicate a plausible mechanism for the following reaction. Be sure to show bond making and bond
breaking as well as all electron movement. Every arrow counts. Be precise! Don’t forget to show charges
where necessary. (8 points)
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